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the subsidies between labor and agriculture; capital gets nothing. And any point along the 
solid horizontal line between A and C is some distribution of the subsidies between agricul-
ture and capital; labor gets nothing. Finally, any point within the triangle LAC is some dis-
tribution of the subsidies between all three constituencies. For example, at point E, the 
subsidies are divided equally between labor, capital, and agriculture.

Imagine that each constituency wants to maximize its share of the government subsidies 
but has no opinion about how the portion it does not receive is divided among the other 
constituencies. If each constituency votes to allocate the subsidies by majority rule and can 
propose a change in the division at any time, then the problem of cyclical majorities that we 
encountered with Condorcet’s paradox will rear its ugly head again. To see why, imagine that 
someone, perhaps the national government, proposes to divide the subsidies equally 
between all three constituencies. This point can be thought of as the status quo proposal, 
and it is marked as SQ in Figure 11.7. Given the assumptions that we have made, the most 
preferred outcome for each constituency will be to get 100 percent of the subsidies for itself. 
Recall that these ideal points are given by points L (labor), A (agriculture), and C (capital) 
in Figure 11.6.

Two-Dimensional Voting with WinsetsFigure  11.7

Note: The three solid gray lines going through SQ (status quo) are the indifference curves for labor (L), capital (C), 
and agriculture (A); P1 = proposal 1. The shaded triangles are winsets that represent alternative divisions of the 
subsidies that are preferred by a majority to the status quo; the majority in question is shown in each winset.
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